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:Java n2’2v4a PIns — 1 nHNY

:Passenger — yo1 nponnn
public class Passenger

{

private String name;
private String destination;
private int type; [* 0-citizens, 1-soldiers boys, 2 - sodiers girls */

public Passenger(String name, String destination, int type)

{

this.name = name;
this.destination = destination;
this.type = type;

}

public String getDestination()
{

ky

public String getName()
{

}

public int getType()
{

ky

public void setDestination(String destination)

{
¥

public String toString()
{

return this.destination;

return this.name;

return this.type;

this.destination = destination;

return "Passneger "+this.name+" of type "+this.type+"goes to
"+this.destination;

ky
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:Bus — 91290Ix nponnn
public class Bus

{
private int number;
private String destination;
private int freePlaces;
public Bus(int num, String dest, int places)
{
this.number=num;
this.destination=dest;
this.freePlaces=places;
}
public String getDestination()
{
return this.destination;
}
public int getFreePlaces()
{
return this.freePlaces;
}
public int getNumber()
{
return this.number;
}
public void setDestination(String destination)
{
this.destination = destination;
}
public void setFreePlaces(int freePlaces)
{
this.freePlaces = freePlaces;
}
public void setNumber(int number)
{
this.number = number;
}
public String toString()
{
return "Bus no: "+this.number+" to "+this.destination+"has
"+this.freePlaces+" free places”;
}
}
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:FixedPriorityQueue npvnnn
import unit4.collectionsLib.Queue;

public class FixedPriorityQueue<T>

{
private Queue<T> [] fpq;
public FixedPriorityQueue (int n)
{
this.fpg = new Queue [n];
for (int i=0;i<n;i++)
this.fpg[i]=new Queue<T>();
}
public Queue<T>[]getFpq()
{
return this.fpg;
}
public boolean isEmpty()
{
int n=this.fpg.length-1,;
while(n>=0)
{
if (1this.fpg[n].isEmpty())
return false;
n--;
}
return true;
}
public T removeFixedQueue ()
{
int n=this.fpg.length-1,
while(this.fpg[n].isEmpty())
n--;
if (n<0)
return null;
else
return this.fpg[n].remove();
}
public void insertFixedQueue(T item, int pr)
{
this.fpg[pr].insert(item);
}
}
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:BusStop npynnn
public class BusStop

{
private FixedPriorityQueue<Passenger> station;
public BusStop(int n)
{
this.station=new FixedPriorityQueue<Passenger>(n);
}
public void printPassengerGetintoBus(Bus b)
{
FixedPriorityQueue<Passenger> temp=new
FixedPriorityQueue<Passenger>(this.station.getFpq().length);
Passenger person;
int p=this.station.getFpq().length;
int free=b.getFreePlaces();
while((free>0) && ('this.station.isEmpty()))
{
person=this.station.removeFixedQueue();
if (person.getDestination().equals(b.getDestination()))
System.out.printIn(person.getName());
free--;
}
else
temp.insertFixedQueue(person, person.getType());
}
while(!this.station.isEmpty())
{
person=this.station.removeFixedQueue();
temp.insertFixedQueue(person,person.getType());
}
while('temp.isEmpty())
{
person=temp.removeFixedQueue();
this.station.insertFixedQueue(person,person.getType());
}
}
public FixedPriorityQueue<Passenger> getBs()
{
return this.bs;
}
}
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public class Main

{

public static void main(String[] args)

{

BusStop bs=new BusStop(3);

Bus bl=new Bus(115,"Haifa",4);

Passenger pl=new Passenger("dorit","Haifa",2);
Passenger p2=new Passenger("dor","Tel-Aviv",2);
Passenger p3=new Passenger("doron","Haifa",2);
Passenger p4=new Passenger("doriti","Haifa",1);
bs.getBs().insertFixedQueue(pl, 2);
bs.getBs().insertFixedQueue(p2, 2);
bs.getBs().insertFixedQueue(p3, 2);
bs.getBs().insertFixedQueue(p4, 1);
bs.printPassengerGetintoBus(bl);
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